Rhetorical Skills Drill

[1]
The golden age of television means many things to many

people, and to the small band of actors, writers, and directors
H

" who would rise to prominence in the late 50s and early 60s,
e

without a doubt it meant the “live” television shows such as

Playhouse 90, where many of them initially worked for the
. 3

first time.
1

(2]

[1] Each week, a new “teleplay” was created from scratch—

written, cast, rehearsed, and performed. [2] Playhouse 90 was
truly a remarkable training ground for the young talents. [3]
Such future luminaries as Paddy Chayefsky, Marlon Brando,

and Patricia Neal worked long hours honing to a knife edge
: T

their craft. [4] In some cases, when there were problems with

the censors, it would have to be created twice. E]

(3]

Despite the frantic pace, accidents happeﬁed frequently.
6

David Niven once revealed that, during an early show, he
inadvertently locked his costume in his dressing robm two
minutes before air time. As the announcer read the opening
credits, the sound of axes splintering the door to Niven’s

dressing room could be heard in the background.

84 | Cracking the ACT

w
>

1. A. NOCHANGE
us to
" ut to
D. In addition to

NOCHANGé;:

prominent famousness
famous prominence
famousness

“mam

NO CHANGE
B. initially for the first time worked.
or the first time worked initially.
—worked for the first time.

NO CHANGE
to an edge

edges %}
OMIT the undétlined portion.

~mam

5. Which of the following sequences would best organize the

sentences in Paragraph 27

A. NOCHANGE
B. 1,2,4,3

gjm¢3

7 2,3,1,4

6. O CHANGE
(4 ue to

H. Inspite of
J. Thus

7. H the writer wished to make the tone of Paragraph 3 more

lighthearted, she could change the word “accidents™ to
A. NO CHANGE

E}sualties
mishaps

D. grave errors


JFK
Sticky Note
C- The underlined portion and the answer choices all contain sentence connectors. This is a transition question. Do we need an also, a but, or a thus? It seems pretty clear we need a but. The answer is (C).  

JFK
Sticky Note
F- Several of the answer choices here seem to use similar words. We should consider redundancy immediately. Choices (G) and (H) are clearly redundant. Answer choice (J) ("famousness") is not a word. Thus the best answer is (F). 

JFK
Sticky Note
D- The underlined portion and the answer choices all seem to contain similar words, so again we should consider redundancy. There is no need to say both "initially" and "for the first time" in the same sentence. Choices (B) and (D) are the only choices that avoid redundancies. Choice (B) is awkward and incorrectly phrased, so (D) is correct.  

JFK
Sticky Note
J- At first this might strike you as an idiom question. In fact, style questions often resemble idiom questions. The metaphor of an actor sharpening his or her skills is effective, but how far do we want to take it? It is necessary to say "to a knife edge" to get the point across? The answer is (J): OMIT the underlined portion.  

JFK
Sticky Note
D- As with all organization questions, we should try to spot either the beginning sentence or any pair of sentences we can link together. There is a certain cause and affect visible between Sentence 1 and Sentence 4. Which of the answer choices puts them next to each other in that order? Two of them do. The answer would seem to have to be (C) or (D). Because both choices put Sentence 2 first, the question becomes "where does sentence 3 belong? Well, the paragraph beings by saying Playhouse 90 was a training ground. It is most logical to put the list of future stars after the introductory sentence, so (D) is the best answer. 

JFK
Sticky Note
G- We see more sentence connectors, so we are again prepared for transition. "(Blank) the frantic pace, accidents happened frequently". Let's try out the words in the answer choices. Could "despite" fill in the blank? No. We want a casual word. Answer choice (G), "Due to," is the correct answer. 

JFK
Sticky Note
C- How do we change tone of paragraph 3 with one word? Well, "accidents" sounds a little drastic. Which choice minimizes the sound of that word? If you said (C) "mishaps", you are correct. 


Question 9 asks about the preceding passage
as a whole.

8. Which of the following would best summarize the passage
as a whole?

F. The golden age of television meant many things to many
different people. %}

G. Early television shows such as Playhouse 90 provided the
training ground where talented new entertainers could
learn their craft.

H. The golden age of television had many amusing
moments.

J.  The rise of Paddy Chayefsky, Marlon Brando, and Patri-
cia Neal helped to make Playhouse 90 a success.

9. Which of the following sequences of paragraphs would
make the structure of the passage as a whole the most
logical?

A. NO CHANGE
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JFK
Sticky Note
G- Summary questions always take a while. Answer choice (F) merely repeats the first half of the sentence of the passage, entirely missing Playhouse 90. Answer choice (G) seems really good. Answer choice (H) concentrates on the third paragraph only. Answer choice (J) concentrates solely on the three actors and writers mentioned. Are they the primary focus of the passage? Not really. The answer is (G). 

JFK
Sticky Note
A- Organization of paragraphs requires an overview of the entire passage. As always, try to find one paragraph you feel you can label as first or last, and proceed from there. Because the first paragraph is the best introduction to the passage as a whole, the correct answer is (A).


